017FERERFMAELHRAXSEHHE XS

201798 15H~9H16H
£57
- B3 ER SR
&8 B8 (39 TR iR R iR TEfT iR
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400m B S5(2) 3 1 49.61 1 49.29
ISH {FIR(2) 6 4 56.81
800m TR EH(L) 1] 7 2:19.02
B #1(2) 6 4 2:08.95
1500m FH #F(2) 1 12 4:34.44
TR EA(L) 31 23 5:00.00
5000m INE ﬁf%f(Z) 2| 10 17:12.17
110mH )l BA(L) 2] 1 16.56(-2.5) 2 16.41(-1.4)
F E((1) 4 5 17.61(-2.1)
400mH BRE BETT(1) 3 4 63.17
H ¥(2) 5/ 1 60.22 7 94 hL—2
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YT 155(2) 15| 3 12.52(+0.6)
B0 155(2) 16| 8  12.72(+0.1)
At E((1) 22| 2 12.79(+1.0)
2t BAL) 26/ 2 13.27(-0.6)
BE3E (1) 26 4 13.31-0.6)
OP400m = E%fl\(l) 3 1 54.35
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